Soustraction Avec Des Zéros (A)

Calculez la différence.

100 100 1000 100
- 100 -48 - 845 -72
100 100 100 1000
-52 - 38 - 24 - 626
100 1000 1000 1000
-59 -46 - 758 -974
1000 100 100 1000
-75 -98 -57 -418
1000 100 100 1000
- 398 - 69 -83 - 267
100 1000 100 100
-47 - 823 -44 -22
100 1000 100 1000
- 28 - 384 - 44 - 205
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Soustraction Avec Des Zéros (A) Réponses

100
- 100

-48

100
-52

- 38

48

100
-59

41

1000
-75

954

925

1000
- 398

- 69

602

100
- 47

- 823

53

100
- 28

- 384

72

Calculez la différence.

100
-72

28

1000
- 626

374

1000
-974

26

1000
-418

582

1000
- 267

733

100
-22

100 1000
- 845

52 155
100 100
- 24

62 76
1000 1000
- 46 - 758
242

100 100
- 98 .57
2 43
100 100
- 83

31 17
1000 100
- 44

177 56
1000 100
- 44

616 56

78

1000
- 205

795
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